
ASNG507
Fabric dresser

V7.2.0

wlive-cs@devaise.com



GENERAL GUIDELINES
Please read the following instruction carefully and use the product accordingly.

If an odor is present when first opening the package, please leave the unwrapped 
product in a shaded and ventilated area for a few days to air out.

Please follow the assembly instructions precisely and only use the product as intended.

Prior to assembly, please check the product for defects or missing accessories. If 
any defects are found or accessories are missing, do not use product as damage 
or injury may occur; 
Please contact us for assistance and replacement.

It is suggested you regularly check the products bolts and connections to ensure safe use.
Assemble the item on a soft flat and clean surface to avoid scratches and damage.
It is recommended that two people assemble this product.

Please keep this manual and hand it over when you transfer the product.
This summary may not include every detail of all variations and considered steps. 
Please contact us when further information and help are needed.

• 

• 

• 

• 

• 

• 
• 
• 
• 

IMPORTANT INFORMATION
READ CAREFULLY.
KEEP THIS INFORMATION FOR FURTHER REFERENCE.

NOTES

WARNINGS
During assembly, keep parts and packaging materials away from children and pets as there 
could cause injury and are a potential choking hazard.
Avoid sharp objects or corrosive chemicals to prevent damage to the product.
Please open the item slowly and cautiously to avoid pinching your hands by metal 
joints, especially children.

• 

• 

• 

EN

• During assembly, please only slightly tighten all screws in their correct position first, 
then fully tighten them. A Philips screwdriver is recommended but not included.



DE

ALLGEMEINE LEITLINIEN

WICHTIGE INFORMATIONEN
SORGFÄLTIG LESEN.
BEWAHREN SIE DIESE INFORMATIONEN ZUR WEITEREN 
VERWENDUNG AUF.

ANMERKUNGEN

WARNUNGEN

• 

• 

• 

• 

• 

• 
• 
• 

• 

• 

• 

• 

• 

Bitte lesen Sie die folgende Anleitung sorgfältig durch und verwenden Sie das Produkt 
entsprechend.

Bitte bewahren Sie diese Anleitung auf und übergeben Sie sie bei der Übergabe des Produkts.

Diese Zusammenfassung enthält möglicherweise nicht alle Einzelheiten aller Varianten und 
berücksichtigten Schritte. Bitte kontaktieren Sie uns, wenn Sie weitere Informationen und 
Hilfe benötigen.

Bitte befolgen Sie die Montageanleitung genau und verwenden Sie das Produkt nur bestim-
mungsgemäß.

Wenn beim ersten Öffnen der Verpackung ein Geruch wahrnehmbar ist, lassen Sie das 
ausgepackte Produkt bitte einige Tage lang an einem schattigen und gut belüfteten Ort 
liegen, um es zu lüften.

Bitte überprüfen Sie das Produkt vor der Montage auf Mängel oder fehlendes Zubehör. Wenn 
Mängel festgestellt werden oder Zubehörteile fehlen, darf das Produkt nicht verwendet 
werden, da es zu Schäden oder Verletzungen kommen kann;
Bitte kontaktieren Sie uns für Hilfe und Ersatz.

Ziehen Sie bei der Montage alle Schrauben zunächst nur leicht an und ziehen Sie sie dann vollstän-
dig an. Ein Kreuzschlitzschraubendreher wird empfohlen, ist aber nicht im Lieferumfang enthalten.

Es wird empfohlen, die Schrauben und Verbindungen des Produkts regelmäßig zu 
überprüfen, um eine sichere Verwendung zu gewährleisten.

Montieren Sie den Artikel auf einer weichen, flachen und sauberen Oberfläche, um Kratzer 
und Schäden zu vermeiden.

Es wird empfohlen, dass zwei Personen dieses Produkt zusammenbauen.

Halten Sie während des Zusammenbaus Teile und Verpackungsmaterialien von Kindern und 
Haustieren fern, da sie Verletzungen verursachen können und eine Erstickungsgefahr
darstellen.

Vermeiden Sie scharfe Gegenstände oder ätzende Chemikalien, um Schäden am Produkt zu 
vermeiden.

Bitte öffnen Sie den Artikel langsam und vorsichtig, um zu vermeiden, dass Sie sich die Hände 
an den Metallgelenken einklemmen, vor allem Kinder.



• 

• 

• 

• 

• 

• 
• 
• 

• 

• 

• 

• 

• 

IT

LINEE GUIDA GENERALI

INFORMAZIONI IMPORTANTI
 LEGGERE CON ATTNZIONE.
CONSERVARE QUESTE INFORMAZIONI PER
ULTERIORI RIFERIMENTI.

NOTE

AVVERTENZE

Si prega di leggere con attenzione le seguenti istruzioni e di utilizzare il prodotto di
conseguenza.

Si prega di conservare questo manuale e di consegnarlo quando si trasferisce il prodotto.

Questo riepilogo potrebbe non includere tutti i dettagli di tutte le variazioni e i
passaggi considerati.
La preghiamo di contattarci quando sono necessarie ulteriori informazioni e aiuto.

Seguire con attenzione le istruzioni di montaggio e utilizzare il prodotto solo come previsto.

Se è presente un odore alla prima apertura della confezione, lasciare il prodotto non
imballato in una zona ombreggiata e ventilata per alcuni giorni affinché possa aerare.

Prima del montaggio, verificare la presenza di difetti o accessori mancanti nel prodotto. Se 
si riscontrano difetti o mancano accessori, non utilizzare il prodotto poiché potrebbero 
verificarsi danni o lesioni;
La preghiamo di contattarci per assistenza e sostituzione.

Durante il montaggio, stringere prima tutte le viti solo leggermente nella posizione corretta, quindi 
stringerle completamente. Un cacciavite Philips è consigliato ma non incluso.

Si consiglia di verificare regolarmente i bulloni e le connessioni del prodotto per garantire 
un utilizzo sicuro.

Montare l'oggetto su una superficie morbida, piana e pulita, in modo da evitare graffi e 
danni.

Si consiglia di montare questo prodotto in due persone.

Durante il montaggio, tenere le parti e i materiali di imballaggio lontano dalla portata dei 
bambini e degli animali domestici poiché potrebbero causare lesioni e costituire un
potenziale pericolo di soffocamento.

Evitare oggetti appuntiti o sostanze chimiche corrosive per evitare danni al prodotto.

Si prega di aprire l'oggetto lentamente e con cautela per evitare di pizzicarsi le mani con le 
giunture metalliche, soprattutto i bambini.



FR

RIENTATIONS GÉNÉRALES
• 

• 

• 

• 

• 

• 
• 
• 

INFORMATIONS IMPORTANTES 
À LIRE ATTENTIVEMENT.
CONSERVER CES INFORMATIONS POUR
RÉFÉRENCE ULTÉRIEURE.

REMARQUES

AVERTISSEMENTS

• 

• 

• 
• 

• 

Veuillez lire attentivement les instructions suivantes et utiliser le produit en conséquence.
Veuillez conserver ce manuel et le remettre lorsque vous transférez le produit.
Ce résumé peut ne pas inclure tous les détails de toutes les variantes et étapes envisagées. 
N'hésitez pas à nous contacter si vous avez besoin de plus d'informations ou d'aide.

Veuillez suivre les instructions de montage à la lettre et n’utiliser le produit que 
comme prévu.

Si une odeur est présente lors de la première ouverture de l’emballage, veuillez 
laisser le produit non emballé dans un endroit ombragé et ventilé pendant quelques 
jours pour l’aérer.

Avant l’assemblage, veuillez vérifier que le produit ne présente pas de défauts et qu'il 
ne manque pas d'accessoires. Si des défauts sont constatés ou si des accessoires 
manquent, n'utilisez pas le produit car des dommages ou des blessures pourraient 
survenir ;
Veuillez nous contacter pour obtenir de l'aide et un remplacement.

Lors de l'assemblage, veuillez d'abord serrer légèrement toutes les vis dans leur position correcte, 
puis serrez-les à fond. Un tournevis Philips est recommandé mais n'est pas inclus.

Il est conseillé de vérifier régulièrement les boulons et les connexions des produits 
pour garantir une utilisation sûre.

Assembler l'article sur une surface douce, plate et propre afin d'éviter les rayures et 
les dommages.

Il est recommandé que deux personnes assemblent ce produit.

Pendant l'assemblage, gardez les pièces et les matériaux d'emballage hors de portée 
des enfants et des animaux domestiques, car ils pourraient provoquer des blessures 
et constituent un risque potentiel d'étouffement.

Évitez les objets pointus ou les produits chimiques corrosifs pour éviter d’endom-
mager le produit.

Veuillez ouvrir l'article lentement et avec précaution afin d'éviter que les raccords 
métalliques ne vous pincent les mains, en particulier celles des enfants.



ES

GUÍA GENERAL
• 

• 

• 

• 

• 

• 

• 
• 
• 

• 

LEA ATENTAMENTE LAS
INFORMACIONES IMPORTANTES.
CONSERVE ESTA INFORMACIÓN PARA
REFERENCIA FUTURA

NOTAS

ADVERTENCIAS

• 

• 

• 

Lea atentamente las instrucciones siguientes para usar el producto.

Conserve este manual y lo entregue al transferir el producto.

Este resumen no puede incluir cada detalle de todos los variantes y pasos
considerados. Póngase en contacto con nosotros sobre más informaciones y 
ayudas.

Siga estrictamente las instrucciones del montaje y use el producto para su fin
especificado.

Si hay olor al abrir el embalaje por primera vez, coloque el producto sin envasar en un 
lugar fresco y ventilado por unos días.

Verifique si el producto es defectuoso o falta de accesorios antes de la instalación. Si 
detecta algún defecto o pérdida de accesorios, no use el producto, provocando daños 
o lesiones;
Póngase en contacto con nosotros para asistencia y reemplazo.

Durante la instalación, apriete ligeramente todos los tornillos a sus posiciones correctas, y luego los 
apriete completamente. Recomiende usar un destornillador Philips que no está incluido.

Recomiende revisar regularmente los pernos y conexiones de los productos para 
garantizar un uso seguro.

Ensamble el ítem en una superficie suave, limpia y plana para evitar arañazos y daños.

Recomiende ensamblar este producto por dos personas.

Durante la instalación, los elementos y materiales de embalaje deben estar lejos de los 
niños y mascotas, evitando lesiones y riesgos potenciales de asfixia.

Evite objetos afilados o productos químicos corrosivos para prevenir daños al produc-
to.

Abra lentamente y cuidadosamente el ítem, evitando exprimir sus manos por los 
conectores metálicos, especialmente los niños. 



If you have any further questions, please feel free to contact us 
by email or official website: wlive-cs@devaise.com 
We will reply ASAP.                

Enjoy your new purchase!

Before installation, please make sure you have all the hardware, 
the serial numbers are properly labeled corresponging to the list, 
and the quantity is correct.

EN



DE

IT

FR

ES

Wenn Sie weitere Fragen haben, zögern Sie nicht, uns per E-Mail oder offizielle Website zu 
kontaktieren: wlive-cs@devaise.com 
Wir werden so schnell wie möglich antworten.

Vor der Installation stellen Sie bitte sicher, dass Sie alle Hardware haben, die Seriennummern 
entsprechend der Liste richtig beschriftet sind und die Menge korrekt ist.

Viel Spaß beim Kauf!

Se avete ulteriori domande, non esitate a contattarci via e-mail o sito ufficiale:
 wlive-cs@devaise.com 
Risponderemo al più presto.

Prima dell'installazione, assicurarsi di avere tutto l'hardware, i numeri di serie sono 
correttamente etichettati corrispondenti all'elenco e la quantità è corretta.

Godetevi il vostro nuovo acquisto!   

Si vous avez d'autres questions, n'hésitez pas à nous contacter par e - mail ou sur le site 
officiel: wlive-cs@devaise.com 
Nous vous répondrons dès que possible.

Avant l'installation, assurez - vous que vous avez tout le matériel, que le numéro de série 
correspond à la liste et que la quantité est correcte.

Profitez de votre nouvel achat!

Si tiene alguna pregunta adicional, no dude en ponerse en contacto con nosotros por correo 
electrónico o sitio web oficial: wlive-cs@devaise.com 
Responderemos lo antes posible.

Antes de instalarlo, asegúrese de tener todo el hardware, el número de serie corresponde a la 
lista y el número es correcto.

¡¡ disfruta de tu nueva compra!



EXPLODED DRAWING

PARTS

M6x25 M6x10 M4x12
X6B X14C X7DX16A

X1H X2IX4E

8

9

×4

10

11

×3

1

3
6

7

2 2

4
4

5



1
REMARK

X1HX6B
M6x10

EN

DE

IT

FR

ES

1. Legen Sie eine Decke unter das Brett, um Kratzer oder Beschädigungen zu vermeiden.
2. Die schattierten Teile befinden sich auf der gleichen Seite.
3. Bitte ziehen Sie die Schrauben erst dann vollständig an, wenn alle Schrauben vorhanden sind.

1. Mettere una coperta sotto la tavola per evitare graffi o danni.
2. Le parti in ombra sono sullo stesso lato.
3. Si prega di non stringere completamente le viti finché tutte le viti non sono in posizione.

1. Placez une couverture sous la planche pour éviter de la rayer ou de l'endommager.
2. Les parties ombrées sont du même côté.
3. Veuillez ne pas serrer complètement les vis avant que toutes les vis soient en place.

1. Pon una cubierta por debajo del tablero para evitar arañazos o daños.
2. Las partes coloreadas están en el mismo lado.
3. No apriete completamente los tornillos hasta que todos estén en su lugar.

1. Put a blanket under the board to avoid scratch or damage. 
2. The shaded parts are on the same side.
3. Please do not fully tighten screws until all screws are in place.

B ×6

1

3

2 2

6

FRONT



2
REMARK

UP

UP

A ×8

3

4

4

EN

DE

IT

FR

ES

1. Bitte beachten Sie, dass die Seite mit dem kleineren Loch von Teil 4, wie in der Abbildung 
    gezeigt, nach oben und die andere Seite mit dem größeren Loch nach unten zeigen sollte.
2. Bitte ziehen Sie die Schrauben erst dann vollständig an, wenn alle Schrauben vorhanden sind.

1. Si prega di notare che il lato con il foro più piccolo della Parte 4 indicato nell'immagine deve 
    essere rivolto verso l'alto, l'altro lato con il foro più grande deve essere rivolto verso il basso.
2. Si prega di non stringere completamente le viti finché tutte le viti non sono in posizione.

1. Veuillez noter que le côté avec le plus petit trou de la pièce 4 indiqué sur la figure doit être 
    orienté vers le haut, l’autre côté avec le plus grand trou doit être orienté vers le bas.
2. Veuillez ne pas serrer complètement les vis avant que toutes les vis soient en place.

1. Tenga en cuenta que el lado de la Parte 4 con agujero más pequeño indicado en la figura debe
    estar hacia arriba, y el otro lado con agujero más grande debe estar hacia abajo.
2. No apriete completamente los tornillos hasta que todos estén en su lugar.

1. Please note the side with smaller hole of Part 4 indicated in the picture should be faced up, the 
    other side with larger hole should be faced down.
2. Please do not fully tighten screws until all screws are in place.

X1H X8A
M6x25



3 X1HX2A
M6x25

REMARK
EN

DE

IT

FR

ES

1. Bitte ziehen Sie die Schrauben erst dann vollständig an, wenn alle Schrauben vorhanden sind.
2. Die schattierten Teile befinden sich auf der gleichen Seite.

1. Si prega di non stringere completamente le viti finché tutte le viti non sono in posizione.
2. Le parti in ombra sono sullo stesso lato.

1. Veuillez ne pas serrer complètement les vis avant que toutes les vis soient en place.
2. Les parties ombrées sont du même côté.

1. No apriete completamente los tornillos hasta que todos estén en su lugar.
2. Las partes coloreadas están en el mismo lado.

2. The shaded parts are on the same side.
1. Please do not fully tighten screws until all screws are in place.

A 2

5



A 6

7

7

4 X1HX6A
M6x25

REMARK

EN_Please do not fully tighten screws until all screws are in place. 

DE_Bitte ziehen Sie die Schrauben erst dann vollständig an, wenn alle Schrauben vorhanden sind.

IT_Stringere completamente tutte le viti dopo che tutte le viti sono nella posizione corretta.

FR_Veuillez ne pas serrer complètement les vis avant que toutes les vis soient en place.

ES_No apriete completamente los tornillos hasta que todos estén en su lugar.



X4E5

6

E ×4

×2I

X2I



7

8

X3D

X6C
M4x12

C ×2

11

11 11

×3

D

X4D

X8C
M4x12

×4

C ×2D

10

8

9

9 9



9


